ISLAMORADA BATH SUITE

DESCRIPTION	MODEL	QTY	SPEC	INSTALL	LIST PRICE EACH USD	LIST PRICE TOTAL USD
Cabinets, Lightin	g, and Vanities (Vanity Top	Not Inc	luded)			
Murray Hill Pill Medicine Cabinet 20"W × 50"H × 4"D, Polished Stainless Steel, Electric Upgrade	D2C2050D4MP84TP	2	₹	\(\frac{1}{2}\)	\$2,449	\$4,898
Tenor™ Sconce Lighting in Brass 1-¾" W × 39-¾" H × 2"D, Fluted Endcaps, Tunable: Dimming to 5%, Color Temperature Tuning 2700K - 5600K	JLA40FKSCVC86K	4	((\$1,399	\$5,596
SWAY™ Control for Tenor Tunable Lighting (wall plate not included)	SWAY	1		(\$189	\$189
			Cabinets	and Lighting	Subtotal:	\$10,683
Islamorada Vanity 36"W × 32-1%"H × 21-1½"D, Sand with Aged Brass (vanity top not included)	CVSM3622087	3	((\$3,229	\$9,687
		Vani	ity Subtota	l (Tops not i	ncluded):	\$9,687

Display Total: \$20,370

CARTESIAN BATH SUITE

					LIST PRICE EACH	LIST PRICE TOTAL
DESCRIPTION Cobinete Lighting	MODEL	QTY	SPEC	INSTALL	USD	USD
M Series Reserve Cabinet 24" W × 40" H × 4" D, Polished Edge, Electric+ Upgrade, Right Hinge	nnd Vanities (Vanity To	1	<u>(</u>	(\$3,799	\$3,799
M Series Reserve Cabinet 20" W × 40" H × 4" D, Polished Edge, Electric+ Upgrade, Left Hinge	MR2040D4FPE4L	1	((\$3,729	\$3,729
M Series Reserve Cabinet 24" W × 40" H × 4"D, Polished Edge, Electric+ Upgrade, Left Hinge	MR2440D4FPE4L	1	<u>\(\frac{1}{2}\)</u>	(\$3,799	\$3,799
M Series Reserve Cabinet 16" W × 40" H × 4" D, Polished Edge, Electric+ Upgrade, Left Hinge	MR1640D4FPE4L	1	((\$3,499	\$3,499
M Series Reserve Cabinet 16" W × 40" H × 4" D, Polished Edge, Electric+ Upgrade, Right Hinge	MR1640D4FPE4R	1	((\$3,499	\$3,499
Cabinet Ganging Kit For M Series Reserve and PL PORTRAY	P2RMGKIT	2		(\$79	\$158
InLine 2.0 Modular Lighting 3-½" W × 39-¾" H × 15/16" D, Tunable: Dimming to 5%, Color Temperature Tuning 2700K - 5600K	MLC40IKSSVC	4	₹	(\$1,449	\$5,796
SWAY™ Control for Tenor Tunable Lighting (wall plate not included)	SWAY	1	\bigcirc	$\overline{+}$	\$189	\$189
		*	Cabinets	and Lighting	Subtotal:	\$24,468
Cartesian Modular Vanity 12" W × 7-½" H × 21"D, Tinted Gray Mirror, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM12H1D21F11S	3	(\(\psi\)	\$1,029	\$3,087
Cartesian Modular Vanity 12"W × 15"H × 21"D, Tinted Gray Mirror, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM12H2D21F11S	3	⊕	(\$1,329	\$3,987
Cartesian Modular Vanity 36"W × 7-½"H × 21"D, Tinted Gray Mirror, Tip Out Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM36H1D21T11S	2	₩	(\$3,499	\$6,998
Cartesian Modular Vanity 36"W × 15"H × 21"D, Tinted Gray Mirror, Plumbing Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM36H2D21P11S	2	((\$3,829	\$7,658
Vanity Ganging Kit 22-½" H	VMGKITH3	4	\(\psi\)	₹	\$299	\$1,196
Cartesian Side Kit 22-½" H × 21" D, Pair Side Kits, Tinted Gray Mirror	VM2SKH3D21-11	1	(<u>\(\frac{1}{2}\)</u>	\$799	\$799
Electric Accessory Use in 15" H × 21" D Vanities	VAELECTRIC21	3		<u>\(\frac{1}{2}\)</u>	\$629	\$1,887
Drawer Insert for use in 12" W Drawer 10-3/16" W × 3-3/4" H × 15-3/6" D, Full Drawer	VADRAWER12X	2	(<u>_</u>	\$729	\$1,458
Drawer Insert for use in 36" W Drawer $34-3/16$ " W $\times 3-3/4$ " H $\times 15-3/6$ " D, Plumbing Drawer	VADRAWER36P	2	(<u>\(\psi\)</u>	\$1,149	\$2,298
				ıl (Tops not iı	······································	

Display Total: \$53,836

CLOSET/DRESSING AREA (WHITE VANITY SIDE)

DESCRIPTION	MODEL	QTY	SPEC	INSTALL	LIST PRICE EACH USD	LIST PRICE TOTAL USD
Mirrors and Va	nities (Vanity Top Not In	cluded)				
Hanging Pill Mirror in Brass 19-14" W × 40" H × 1-76" D	YM2040SNPFNZH86	1	$\overline{\uparrow}$	(\$1,679	\$1,679
				Mirror S	Subtotal:	\$1,679
Cartesian Modular Vanity 12" W × 7-½" H × 21" D, White, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM12H1D21F21S	6	(€	\$1,029	\$6,174
Cartesian Modular Vanity 36"W × 7-½"H × 21"D, White, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM36H1D21F21S	4	(\$3,499	\$13,996
Cartesian Modular Vanity 36"W × 15"H × 21"D, White, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM36H2D21F21S	2	((\$3,829	\$7,658
Cartesian Side Kit 22-½" H × 21" D, Pair Side Kits, White	VM2SKH3D21-21	1	₹	(\$799	\$799
Vanity Ganging Kit 30" H	VMGKITH4	1	₹	(\$299	\$299
Vanity Ganging Kit 22-'/'' H	VMGKITH3	1	((\$299	\$299
Vanity Alcove Kit 30" H	VMAKITH4	1	\bigoplus	(\$299	\$299
Vanity Alcove Kit 22-'/2" H	VMAKITH3	1	((\$299	\$299
Electric Accessory Use in 15" H × 21" D Vanities	VAELECTRIC21	2		(\$629	\$1,258
		Vanit	y Subtota	l (Tops not in	cluded):	\$31,081

Display Total: \$32,760



CLOSET/DRESSING AREA (BLACK VANITY SIDE)

DESCRIPTION	MODEL	QTY	SPEC	INSTALL	LIST PRICE EACH USD	LIST PRICE TOTAL USD
Mirrors and \	/anities (Vanity Top Not In	ıcluded)				
Hanging Pill Mirror in Matte Black 19-¼"W × 40"H × 1-1%"D	YM2040SNPFNZH83	1	(€	\$1,679	\$1,679
				Mirror	Subtotal:	\$1,679
Cartesian Modular Vanity 12"W × 7-½"H × 21"D, Matte Black, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM12H1D21F28S	6	(\Psi	\$1,599	\$9,594
Cartesian Modular Vanity 36"W × 7-½"H × 21"D, Matte Black, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM36H1D21F28S	4	((\$4,149	\$16,596
Cartesian Modular Vanity 36"W × 15"H × 21"D, Matte Black, Full Drawer, Selectable Night Light, 2700K/4000K Temperature (Warm/Cool Light)	VM36H2D21F28S	2	((\$4,399	\$8,798
Cartesian Side Kit 22-½" H × 21" D, Pair Side Kits, Matte Black	VM2SKH3D21-28	1	((\$949	\$949
Vanity Ganging Kit 30" H	VMGKITH4	1	((\$299	\$299
Vanity Ganging Kit 22-½" H	VMGKITH3	1	((\$299	\$299
Vanity Alcove Kit 30" H	VMAKITH4	1	(\bigcirc	\$299	\$299
Vanity Alcove Kit 22-½" H	VMAKITH3	1	((\$299	\$299
Electric Accessory Use in 15" H × 21" D Vanities	VAELECTRIC21	2		(\$629	\$1,258
		Vanit	ty Subtota	l (Tops not in	ncluded):	\$38,391

Display Total: \$40,070

POWDER ROOMS HIS/HERS

DESCRIPTION	MODEL Mirrors	QTY	SPEC	INSTALL	LIST PRICE EACH USD	LIST PRICE TOTAL USD
Vitality Lighted Mirror 30" diameter × 1-34" D, Perimeter Light Pattern, Warm White (3000K), Dimmable and Defogger	YM0030CPFPD3	1	⊕		\$1,199	\$1,199
Vitality Lighted Mirror 24" W × 30" H × 1-34" D, Perimeter Light Pattern, Warm White (3000K), Dimmable and Defogger	YM2430RPFPD3	1	(<u>\$</u>	\$1,049	\$1,049

Display Total: \$2,248

TUB/SHOWER ROOM

	LIST PRICE TOTAL USD	LIST PRICE EACH USD	INSTALL	SPEC	QTY	MODEL	DESCRIPTION
44" W × 86" H × 1-¾" D, Perimeter Light Pattern, CM8644RPFPN3JU 1 🖳 \$5299						Mirrors	
Warm White (3000K), Dimmable	\$5299	\$5299	((1	CM8644RPFPN3JU	. •

Display Total: \$5299

THE ROBERN LEGACY

Personal Expression

Custom and configurable solutions for creative autonomy as you bring your vision to life.

Thoughtful Technology

Elevating everyday rituals by solving simple problems that enhance and inspire our wellbeing.

American Craftmanship

Engineered and hand-assembled products with quality materials and refined details since 1968.



robern.com contactus@robern.com

800-877-2376







